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NOTICE FADC400

SPECIFICATIONS

General Dimension 6 U (H) x 1 unit (W)
No. of Channels 8 | 8 J 4
Connector Type BNC
Input Impedance 500
Voltage Range 1 Ve_p, bipolar
Gain 0.7 ~ 10 (programmable)
ADC Sampling 64 MS/s 100 MS/s 400 MS/s
Resolution 12 bits 10 bit 10 bit
Input Impedance 1kQ
Trigger Input Level TTLor LVTTL
Output Level LVTTL
External Clock Input LvDS
Data Buffer Buffer Size 256 k samples | 256 k samples ] 1 M samples
Interface VME A 32 / D16 single mode read / write
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Pedestal and Signal
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Result
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NIM amp test
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Single photon signal



Self trigger
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Oscilloscope
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ADC sum with pedestal cut
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Fitting Function and result
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Entries 4304
x2/ndf  699.5/115
p0 1136 £ 5.4
p1 122 £4.3
p2 158.4 £4.9
p3 129.7 4.4
p4 76.26 £ 3.42
p5 43.76 + 2.57
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= double finger_ftidouble #=x, double *par)

/7 double ped = 167.5;

double ped = 50.5;

/7 double sigma = 410.5;

i

double sigma = 270.5;

double xo=x[0];

double v=0;

double vi=exp(—(xx-ped) = (xx—ped)/ (Z#sigma=siama) ) ;

double yvi=exp(—(xxpar [0l -ped)* (xx—par[0]-ped) / (2=sioma=s iama)) ;
double yv2=exp(—(xx2=par[0] ped)* (xx-2*par [0]-ped) /(2xs iama=s iama) ) ;
double yvi=exp(—(xx—3=par[0] ped)* (xx-3*par [0]-ped) / (2xs iama=s iama) ) ;
double yd=exp(—(xx—d*par[0] —ped)* (xx—4*par [0]-ped) / (2*s igma*s igma) ) ;
double vi=exp(-(ocD*par[0] -ped) = (xx—0*par [0]-ped) /(Z*s igma*s igma)) ;
double vB=exp(-(ocB*par[0] -ped) * (xx—6*par [0]-ped) /(Z*s igma*s igma)) ;
double Titval = (par [1]*yO+par [2]*v1+par [3]1*v2+par [4]1*y3+par[D]*v4d) ;

return fitval.



Multiplication value
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Multiplication value
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Waveform
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Waveform
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Waveform
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Input voltage = 57 V
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Input voltage
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Waveform
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Fitting Function
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Waveform
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Waveform
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Fitting Result
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